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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2014 › Ê≈√Ú, 2015 

¬ı̨¸±˚˛Ú ( Chemistry ) 
‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

Ó‘¬Ó¬œ˚˛ ¬ÛS ( 3rd  Paper : Inorganic Chemistry-II) 

¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊±¬  Û”Ì«̃ ±Ú – 50 

Time : 2 hours Full Marks : 50 
[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 

¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

  ø¬ıˆ¬±· - fl¡ 

1º Œ˚-Œfl¡±ÀÚ± ≈√íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 
 [fl¡] [’] Œfl¡±À˘À˜Ú± ◊̋√√È¬ ŒÔÀfl¡ Œ¬ı±¬ı˛Ú øfl¡ˆ¬±À¬ı øÚ©®±˙Ú fl¡¬ı˛±  

√̋√̊  ̨∑ ¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì¸˝√√ ’±À˘±‰¬Ú± fl¡èÚ º   
     3 + 2 
  [’±] fl¡±¬ı«Ú ˜ÀÚ±'±˝◊√√Î¬ ’Ì≈¬ı˛ MO ø‰¬S ’ÇÚ fl¡èÚ º CO 

’Ì≈øÈ¬¬ı˛ ¬ıgÚ ¸—‡…± › Î¬±˝◊√√À¬Û±˘ Œ˜±À˜KI◊ ’±À˘±‰¬Ú± 

fl¡èÚ º 2 + (1
  

! 

1

2
 × 2)  

 [‡]  ¬¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì¸˝√√ øfl¡ ‚ÀÈ¬ ø˘‡≈Ú – 2
  

! 

1

2
 × 4 

  [’¡] Œ¬ı±¬ı˛±' › fl¡…±˘ø˙˚˛±˜ ŒÙv¬±¬ı˛±˝◊√√Î¬ ‚Ú ¸±˘øÙ¬Î¬◊ø¬ı˛fl¡ 
’…±ø¸Î¬ ¸˝√√À˚±À· Î¬◊M√√5 fl¡¬ı˛± √̋√̆  º  

  [’±] Ù¬¸Ù¬ø¬ı˛fl¡ ’…±ø¸Î¬ › ‚Ú Ú±˝◊√√ø¬∏Cfl¡ ’…±ø¸ÀÎ¬¬ı˛ Ó¬5 
^¬ıÀÌ ’øÓ¬ø¬ı˛Mê√ ’…±À˜±øÚ˚˛±˜ ˜ø˘¬ıÀÎ¬È¬ ^¬ıÌ 
Œ˜˙±ÀÚ± ˝√√̆  º 

  [ ◊̋√√] SnCl  

! 

2  ^¬ıÀÌ¬ı˛ ¸±ÀÔ ’øÓ¬ø¬ı˛Mê√ NaOH ^¬ıÌ Œ˚±· 
fl¡¬ı˛± √̋√̆  º ’Ó¬–¬Û¬ı˛ ¤¬ı˛ ˜ÀÒ…   

! 

Bi(NO3)3 ^¬ıÌ 
Œ˚±· fl¡¬ı˛± √̋√̆  º 

  [÷] fl¡øÍ¬Ú MnSO  

! 

4 -¤¬ı˛ ¸ø˝√√Ó¬ Œ¬ıĮ̂¬ Œ˘Î¬ ø˜ø˙À˚˛ ‚Ú 
Ú±˝◊√√ø¬∏Cfl¡ ’…±ø¸Î¬ ¸ √̋√À˚±À· Î¬◊M√√5 fl¡¬ı˛± √̋√̆  º  

 [·]  fl¡±¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚ – 2
  

! 

1

2
 × 4 

  [’¡]   

! 

N(CH3)3 é¬±¬ı˛fl¡œ˚̨ øfl¡c   

! 

N(SiH3)3 é¬±¬ı˛fl¡œ˚̨ 
Ú˚˛ º  

  [’±¡]   

! 

AlF3 øÚè√fl¡ HF-¤ õ∂±˚˛ ’^¬ıÌœ˚̨, øfl¡c NaF-
¤¬ı˛ Î¬◊¬Ûø¶öøÓ¬ÀÓ¬ ¤øÈ¬ ¸˝√√ÀÊ√̋ ◊√√ ^±¬ı… º  

  [ ◊̋√√¡] √̋√± ◊̋√√Eø'˘ ’…±ø˜Ú ‡≈¬ı ¸˝√√ÀÊ√̋ ◊√√ Ê√±¬ı˛fl¡ › ø¬ıÊ√±¬ı˛fl¡ 
ø˝√√̧ ±À¬ı ¬ı…¬ı √̋√+Ó¬ √̋√̊ ˛ º 

  [÷¡]   

! 

SnCl2¤fl¡øÈ¬ ø¬ıÊ√±¬ı˛fl¡ ^¬ı… øfl¡c   

! 

PbCl2Ú˚˛ º  

 [‚] [’] ’ÀÔ±« › ¬Û…±¬ı˛± ˝√√± ◊̋√√ÀE±ÀÊ√ÀÚ¬ı˛ ˜ÀÒ… ≈√øÈ¬ ¬Û±Ô«fl¡…  
ø˘‡≈Ú º   

  [’±] Ê√±˚˛˜±Ú ˝√√±˝◊√√ÀE±ÀÊ√Ú ¸±Ò±¬ı˛Ì ˝√√±˝◊√√ÀE±ÀÊ√Ú ’Ì≈ 
’À¬Ûé¬± Œ¬ı˙œ ø¬ıøSê˚˛±˙œ˘ √̋√̊  ̨Œfl¡Ú ∑  

  [ ◊̋√√] 14 Ú— Œ|Ìœˆ≈¬Mê√ C › Si-¬ı˛ ’±‰¬¬ı˛ÀÌ¬ı˛ ˜ÀÒ… Ó≈¬˘Ú± 
fl¡èÚ › ¬Û±Ô«fl¡… Œ√‡±Ú º 3 + 3 + 4    
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    ø¬ıˆ¬±· - ‡¡ 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

 [fl¡] ̋ √√± ◊̋√√E±˝◊√√Î¬ øfl¡ ∑ ◊̋√√KI◊±¬ı˛øàø¸˚˛±˘ √̋√±˝◊√√E± ◊̋√√ÀÎ¬¬ı˛ õ∂døÓ¬ › 
¬ı…¬ı˝√√±¬ı˛ ø˘‡≈Ú º 2  + 2 + 2   

 [‡¡] [’¡] ¬ı¬ı˛ÀÙ¬¬ı˛ ‚ÚQ Ê√À˘¬ı˛ ‚ÚQ ’À¬Ûé¬± fl¡˜ Œfl¡Ú ∑ 
¬ı…±‡…± fl¡èÚ º 

  [’±] Œ¸±Î¬±˝◊√√Î¬ ’±˚˛Ú øfl¡ˆ¬±À¬ı ∆Ó¬¬ı˛œ fl¡¬ı˛À¬ıÚ ∑ õ∂À˚˛±Ê√Úœ˚̨ 
¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì ø˘‡≈Ú º 3 + 3     

 [·¡] [’] ëÓ¬¬ı˛˘ ’…±À˜±øÚ˚˛±˚˛ é¬±¬ı˛œ˚̨ Ò±Ó≈¬¬ı˛ ‚Ú ^¬ıÌ Î¬◊2‰¬ 
Ó¬øÎ¬»̌ ¬Ûø¬ı˛¬ı˝√√Ú fl¡¬ı˛ÀÓ¬ ¬Û±À¬ı˛ Œfl¡Ú ∑ ¬ı…±‡…± fl¡èÚ º  

  [’±¡] Œ¬ı±¬ı˛ÀÚ¬ı˛ ≈√øÈ¬ ’…±Ú±˚˛øÚfl¡ › ≈√øÈ¬ fl¡…±È¬±˚˛øÚfl¡ Ê√øÈ¬˘ 

Œ˚Ã· ø˘‡≈Ú º 3 + [1
  

! 

1

2
 × 2] 

 [‚¡] õ∂døÓ¬ › ¬¬ı…¬ı˝√√±¬ı˛ ø˘‡≈Ú –  

  [’] Œ¬ı±ø¬ı˛fl¡ ’…±ø¸Î¬  

  [’±] Œ¸±Î¬± ’…±¸ º  3 + 3  

 [„√√¡] ̋ √√± ◊̋√√E±˝◊√√Î¬ › ˝√√…±˘± ◊̋√√Î¬ ø˝√√̧ ±À¬ı Œ¬ıø¬ı˛ø˘˚˛±À˜¬ı˛ ¬ı˛±¸±˚˛øÚfl¡ Ò «̃ 
’±À˘±‰¬Ú± fl¡èÚ º 3 + 3   

 [‰¬√¡] [’¡] PCl  

! 

3 ¤¬ı— SbCl  

! 

3 Ê√À˘¬ı˛ ¸Àe ’±˘±√± ’±˘±√± 
’±‰¬¬ı˛Ì fl¡À¬ı˛ Œfl¡Ú ∑  

  [’±]   

! 

P4, P4O6  ›   

! 

P4O10  øfl¡ˆ¬±À¬ı ·Í¬Ú·Ó¬ˆ¬±À¬ı 
¤fl¡√¬ı˛+¬Û  ∑ 3 + 3 

    ø¬ıˆ¬±· - ·¡ 

3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12 

 [fl¡√√¡]   

! 

NaN3 , HN  

! 

3 ŒÔÀfl¡ Œ¬ı˙œ ¶ö±˚˛œ Œfl¡Ú ∑ ¬ı…±‡…± 

fl¡èÚ º 3  

 [‡]  BeO-¬ı˛ Ê√À˘ ^±¬ı…Ó¬±  

! 

BeSO4 ˘¬ıÀÌ¬ı˛ Î¬◊¬Ûø¶öøÓ¬ÀÓ¬ 

Œ¬ıÀÎ¬ˇ ˚±˚˛ Œfl¡Ú ∑ ¬ı…±‡…± fl¡èÚ º 3   

 [·]    

! 

LiAlH4› 
  

! 

LiBH
4

-¤¬ı˛ ˜ÀÒ… ø¬ıÊ√±¬ı˛Ì é¬˜Ó¬±¬ı˛ 

Ó≈¬˘Ú±˜”˘fl¡ ’±À˘±‰¬Ú± fl¡èÚ º 3 

 [‚]  ë
  

! 

Na
2
S

2
O

3
-¬ı˛ ˜ÀÒ… ¸±˘Ù¬±¬ı˛ ¬Û¬ı˛˜±Ì≈ ≈√øÈ¬ ¸˜Ó≈¬˘… 

Ú˚˛ºí ¤¬ı˛ ¶§¬ÛÀé¬ ¬õ∂˜±Ì Œ√‡±Ú º  3 

 [„√√]  CCl  

! 

4 -¤¬ı˛ ¶£≈¬È¬Ú±—fl¡   

! 

SiCl4 -¤¬ı˛ ¶£≈¬È¬Ú±—Àfl¡¬ı̨ 

Ó≈¬˘Ú±˚˛ Œ¬ı˙œ Œfl¡Ú ∑ ¬ı…±‡…± fl¡èÚ º 3  

 [‰¬]  ·ø˘Ó¬   

! 

H3PO4 ¸˝√√ÀÊ√̋ ◊√√ ø¬ı≈√…» ¬Ûø¬ı˛¬ı˝√√Ú fl¡¬ı˛ÀÓ¬ 

¬Û±À¬ı˛ Œfl¡Ú ¬ı…±‡…± fl¡èÚ º 3 

 [Â√]¡√√  Ó¬¬ı˛˘ ¸±˘øÙ¬Î¬◊ø¬ı˛fl¡ ’…±ø¸ÀÎ¬¬ı˛ Ó≈¬˘Ú±˚˛  

! 

H2S2O7 

Œ¬ı˙œ ˙øMê√̇ ±˘œ ’…±ø¸Î¬ Œfl¡Ú ∑  3  

 [Ê√]  øÙË¬˚˛Ú øfl¡ˆ¬±À¬ı ¬Ûø¬ı˛À¬ıÀ˙¬ı˛ é¬øÓ¬ fl¡À¬ı˛ ¬ı˛±¸±˚˛øÚfl¡ 

¸˜œfl¡¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚ º 3 
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( English Version ) 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling 
mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

Group-A 

1. Answer any two questions.   10 × 2 = 20 

 A. (a) How is boron extracted from  
colemanite ? Discuss with chemical 
equations. 3 + 2 

  (b) Draw MO diagram of carbon monoxide 
molecule and then discuss bond order 
and dipole moment value of CO.  

    2 + (1
  

! 

1

2
 × 2) 

 B. Write with chemical equations what happens 
when —  

  (a) The mixture of borax and calcium 
fluoride is heated with conc. sulphuric 
acid. 

  (b) Ammonium molybdate solution is 
added in excess to a hot solution of 
phosphoric acid mixed with conc. nitric 
acid.  

  (c) Excess NaOH solution is added to the 
SnCl  

! 

2  solution and then   

! 

Bi(NO3)3 

solution is added to it.  

  (d) A mixture of solid MnSO  

! 

4 , red lead and 

conc. HNO  

! 

3 is heated. 2
  

! 

1

2
 × 4  

 C. Explain with reasons : 2
  

! 

1

2
 × 4 

  (a)   

! 

N(CH3)3 is alkaline but   

! 

N(SiH3)3 is 

not.  

  (b)   

! 

AlF3 is almost insoluble in anhydrous 

HF, but it dissolves readily when NaF is 
added. 

  (c) Hydroxyl amine can act both as an 
oxidising and a reducing agent. 

  (d)   

! 

SnCl2  is a reducing agent but   

! 

PbCl2  

is not. 

 D. (a) Write two differences between 'ortho' 
and 'para' hydrogen. 

  (b) Why nascent hydrogen is more reactive 
than ordinary hydrogen ? 

  (c) Compare and contrast the behaviour of 
C and Si of group 14. 3 + 3 + 4 

Group-B 

2. Answer any three questions : 6 × 3 = 18 

 A. What is 'hydride' ? Write the preparation and 

uses of interstitial hydrides. 2 + 2 + 2 
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 B. (a) 'The density of ice is lower than water'. 

Why ? Explain. 

  (b) How can you prepare sodide ion ? Give 

necessary chemical equations. 3 + 3 

 C. (a) Concentrated solutions of alkali metals 

in liquid ammonia show high electrical 

conductance. Explain why.  

  (b) Write two anionic and two cationic 

complexes of boron. 3 + (1
  

! 

1

2
 × 2 ) 

 D. Write down the preparation and uses of  

  (a) Boric acid 

  (b) Soda ash. 3 + 3 

 E. Discuss the chemistry of beryllium with 

reference to its hydrides and halides.  3 + 3 

 F. (a) PCl  

! 

3 and SbCl  

! 

3 behaves differently 

with water. Why ? 

  (b) How are   

! 

P4, P4O6  and   

! 

P4O10  similar 

structurally ? 3 + 3 

Group-C 

3.  Answer any four questions. 3 × 4 = 12 

  
A.   

! 

NaN3  is more stable than HN  

! 

3. 

Explain why.  

     3
 

  
B. Explain why solubility of BeO in water 

increases in presence of   

! 

BeSO4. 3
  

  C. Compare and explain the reducing 
power of   

! 

LiAlH4  and 
  

! 

LiBH
4
. 3  

  D. Cite evidence in favour of                      
inequivalency of two sulphur atoms in 

  

! 

Na
2
S

2
O

3
. 3 

  E.   

! 

SiCl4  has a lower boiling point than 
CCl  

! 

4 . Explain. 3  

  F. Explain why fused   

! 

H3PO4 conducts 

electricity very well. 3 

  G. '  

! 

H2S2O7 is a stronger acid than liquid 

  

! 

H2SO4 .' Why ? 3  

  H. How do freons cause damage to the 
environment ? Explain with chemical 
reactions. 3    

    


